Server:

Civiperf-2 . B8.18—win>iperf —=s —w 2568080

Server listening on TCP port 5861
TCP window size: 258 KByte

2241 local 172.16.1.158 port 5881 connected with
local 172.16.1.158 port 5HB1 connected with
Interval Transfer Bandwidth

8.8—- 8.2 128 HKBuytes 4_.80 Mbits-sec
B.8— B.2 sec 128 KBuytes 5.68 Mhitsssec
B.8- B.2 sec 256 KBuytes 9.61 Mbits-sec

172.16.1.132 port 55877
172.16.1.132 port 55078

SEC

local 172.
local 172.
A.a—-18.4
A.8—18.4
A.a-18.4

16.1.158 port 58681
16.1.158 port 58681
SEC 283 HMButes
SEeC 245 MButes
SEC L28 MButes

connected with
connected with
227 Mhitssszec
127 Mbitsssec
424 Mhits/sec

lient connecting to 172.16.1.15%8, TCP port 5881

CP window size:

[28@1]

8.8 KBuyte (default>
[228]1 local 172.16.1.132 port 55880 connected with 172.16.1.158 port 5S5HHE1

172.16.1.132 port 55877
172.16.1.132 port 55888

local 172.16.1.132 port 55877 connected with 172.16.1.158 port 5HH1

[ ID] Bandwidth
205 Mhits/ssec
237 Mbits-sec

443 Mhitsssec

Transfer
245 MBytes
283 MBytes
528 HMBytes

Interval
B.8-18.8 sec
B.8-18.8 sec
A.8-18.8 =sec




